Z—ADEVEEEEICENLE L

RNTENRAA v F
PRESSURE SWITCHES WITH GAUGE

PS30

C€E~—=x>v

EMCHE®ES

3\ I

c € marking

Compatible with
EMC directive

AEREER
INTERNAL STRUCTUREE

<

o

2 R 7 B
Part name Material
.!r# E FEATURES @ Pressure transducer P-2000
@ —fRZE[EREES. FEARRTIEICRE @ ouvz PAYEuVN
® KZE! - SHEE LED IS & BRI ,Sjjf'jgg - Egl']uoagl-_rfbe;)
. e =717 — i i v
@ BIBEDRAA Y FHANE—F @ Pressure port Brass (Ni-plated)
@ IERTE— RICKDIEHEES L @ NR—2
Base ABS
@ Optimum for pneumatic equipment and semiconductor ® g-o:s%\g (Acrylonitrile-butadiene-styrene)
manufacturing equipment S N —
INRILY— UITR5)b
@ Larger size display and high luminance LED for best @ paﬁe}| sheetl\ ”f.fmyesteﬁ’

visibility
@ Eight switch output modes
@ Low consumption by nondisplay mode

BE!XZ=R77 MODEL NUMBER DESIGNATION
PS30-102R-N

2 U—RX% Series name

TEMEZ]  Rated pressure range

102R : -100 ~ 100 kPa
103R : -0.1 MPa ~ 1.00 MPa

T XA wFHAIATF Switch output interface

N : NPN 5
P : PNP 15

NPN open collector
PNP open collector

BEs{—E LIST OF MODEL NUMBERS
s s 4*—JFE Gauge
Do\ el | ~100 ~ 100 kPa | 100 ~ 1000 kPa
NPN PS30-102R-N PS30-103R-N
PNP PS30-102R-P PS30-103R-P

XTEXICEUTIE, BIX—EBRZEZHERIEEL,
Please refer to the LIST OF MODEL NUMBERS when placing orders.



PS30

PRESSURE SWITCHES WITH GAUGE

WiEXE(+EE STANDARD SPECIFICATIONS

@ WSS, BEEEE 25 + 5C. SFEIEE 24 VDC THREULE T .

Unless otherwise specified, the specs are defined at an ambient temperature of 25 £ 5 °C and excitation voltage of 24 V DC.

IHE B Item BIZ{ Model number PS30
102R 103R
2 (38 ATX)  Pressure reference S*—IJFE  Gauge
TEASESIEEFH Rated pressure range kPa -100 ~ 100 -100 ~ 1000
=RAES Maximum pressure kPa 200 1500
o |BORES Break-down pressure kPa 500 2000
_E B)fERESEFE  Operating temp. range °C -10~50
_E HERE Compensated temp. range °C 0~50
% ‘§ SRR Thermal error + 3 %F.S. (0 ~ 50 °C)
& & | BEEE Operating humidity %RH 35 ~ 85 (f&EE/RL\T & No condensation)
! g FRERE Storage temp. °C| -20~70 (KZE. JTE 65 BRHLIT Atmospheric pressure, humidity 65 %RH maximum)
S | EmAEE Pressure medium JEFERMS{E  Non-corrosive gases
e fiish=re i Insulation resistance MQminimum 100 (DC 500 V)
MEEE Dielectric strength 500 VAC,60s (U—ZJ&#M 1 mALLF Leakage current 1 mA maximum)
EAR— b Pressure port M5 X, O UI58 M5 female screw, “O” ring groove (P8)
8 = Net weight g Approx. 60 (o —7')L 1.5 m =&  Including 1.5 m cable)
fs 5;'» ERENTEE Supply voltage V DC 12 ~24V+10% (UwFILEE Including ripple voltage)
k¥ S |HEmER Consumption current ~ mA maximum 40
RNRT Display element LED (&FSft2 1/2#7 2 and 1/2 digit)
2 > kPa -100 ~ 100 —_—
IR % ERERT Rated display range ViPa — T 010 <100
Wa | = Display accuracy +1 %F.S.
TIHRRE Resolution 1 count
H7=E No. of outputs 2
HABR Output interface F—2>3a0L 749 (NPN/PNP) Open collector output (NPN or PNP)
R E_ HHOFRT Display H71 (SW1), tHA2 (SW2) 7R LED A'H) ONBSIZRIT Output 1 (SWH), Output 2 (SW2) Light on when output s ON.
ﬂ\E % BIRUIEE Repeatability %F.S. + 0.3 maximum
R § = Switch hysteresis 0 ~ 30 counts (BJZ Adjustable)
§ ‘% AAVFEE Switching capacity 30 VDC 100 mA maximum XZi&{RsEHY Short-circuit protection
SREREE Residual voltage V maximum 1.2 V (NPN), 2.2 V (PNP)
B Response ms Approx 5, 25, 250 (B]Z Adjustable)

IR

ENVIRONMENTAL CHARACTERISTICS

SERIER Test item EERSR{4 Test conditions ZE)2 Permissible change

Ik &b Vibration 10 ~ 500 Hz, 98.1 m/s? or 1.5 mm P-P, 3 directions for 2 hours each

eI Shock 490 m/s?, 3 directions for 3 times each HERBBA 1 £ 2 %FS, % 1

FEFPA2T)L Pressure cycling 0 ~ZEHFEES] 0 ~ Rated pressure. 10° cycles + 2 %F.S. maximum after test

[jinpig Moisture resistance 40 °C, 90 ~ 95 %RH, 240 hrs.

EMC EMI : EN55011: 2007, A2 : 2007 Group 1, class B A4y FEEES TERPEK  £5%FS. X1
EMS : EN61326-1 : 2006 Table 2 Switch operating pressure : £ 5 %F.S., maximum during tset

1 EHNRRE. R4y FHAOBEROSFUHEHE

Change in the pressure indication, switch operating points.




PS30

PRESSURE SWITCHES WITH GAUGE

-91~ﬁ37_|'5£ OUTLINE DIMENSIONS Unless otherwise specified, tolerance : + 0.5 (Unit : mm)

29

‘ “O"UVTE

4 “O” ring groove
P B (P8)
PS30
. — Wire color Connection
(52}
! | — —]
L Brown Power ®
Black Switch output 1
) . .
‘ =2 R Eit— I (8. Nixw ) White Switch output 2
! Pressure port (Brass, Ni-plated)
J amr—Twpe MBS ABS M5 BFES5 M5 female depth 5 Blue Common

| 4-core cable
} L =1500 +100 AWG26

BASBESROE INTERNAL ELECTRICAL SCHEMATICS
® NPN HH9 1> ® PNPHAHI 1T

__________| e |
{ o A\ B#ELED Indicator !

RNV \%'/ B)fFL ED Indicator . \f,
| o Power | Kt Power ®
D el [ : e | T —J ;
Pressure : - T Ou m—p—] £77 | [Mancraitl T o
=) Main cwcmtﬁﬁ## S.0utput2 Sensor %SZF o
Load Load

Pressure 1 [ S.Qutput1

| ) Common H Common
!
H EVE-Z II_’F;eDssure indication I L EnER P@sureindicaﬁou
| EPER pesuion | e
— AL
WX E2REE SELECTION OF DISPLAY MULTIPLIER
\ bl 7 ==t o=
LROTN S, RNEERBRTEET, — o “on
Please refer to the right list. Selection
number EGR=ES FRNEOE RINER RN
s o . PROSIN b — - Display multiplier | Display range | Display multiplier | Display range
GF) RHEREB : DEREED KURTHIHDBRER TRHER 5 o 00100
MBIRTEE B Ao 1 —
(Note) Diagonal column : No unit can be selected : .
. . 2 X 0.75 75~75
due to resolution and number of digits.
3 X 0.01 —-1.00 ~ 1.00 X 10 -1.0~10.0
4 X 0.145 -14.5~145 X 145 -14 ~ 145
BX17vFH7J SWITCH OUTPUT MODE
77 Output SW 1 SW 2 w/NL— FE—R YA RO INL—ZE— R
R TNNLU—b |9 yRIVNISL-5 | 'ISU—& | 94YRIVIIIL-9 Separate mode Window comparator mode
E-F Mode Separate Window comparator Separate Window comparator
2 P P P (HIEHE  HI operation) (ABIfE A operation)
EffE Operaion| HI LO A B HI LO A B oN | on N
0 ol
= 5 O © OFF | PiSwi T Paswe P = e
3 1 @) -Pr ‘ h ‘ h Pr -Pr 1 ‘ ‘ h Pr
g 2 O H H H H
R <l s O O (LOEHfE  LO operation) (BE)fE B operation)
o 4 O @) ON
Mg ! - 5 HERNES et
== P1:SW1 p2:swz|  OTF | OFF OFF
F o 6 O O P S e | e | P
- o o e el (B R P
TR BE LR EE2 TR:%E1 IR HE2 P1=P2or P1=P2 P1=P2+2H
SXE 1 Setting 1 | Lowerlimit: Setting 1 | 3% 1 Setting 1 | Lower limit : Setting 1 P1:5¥%1 Sefting1. P2: 32 Setting 2
1 Note1 | Upperlimit:Seting1 | 31 Note1 | Upper limit: Setting 1 H:S%  Switch hysteresis
2 Note2 E2 Note2 =

GE1) BENNLU—BFE—RTIE, BEE SWI1. FREE SW2 M ZNZICHIEUEIELE T .

(Note 1) In the Separte Mode, setting 1 corresponds to SW1, and Setting 2 corresponds to SW2.

GE2) DA ROAVNV—FE—RTIF. SW1T & SW2 [CHEBED. TRIE GRE 1). LRE GRE 2) TEMELEI.

(Note 2) In the Window Comparator Mode, the minimum value for SW1 and SW2 corresponds to Setting 1 and the maximum value corresponds to Settng 2.



PS30

PRESSURE SWITCHES WITH GAUGE

W77 tvU—Bf145E% (Bl5Eom

HOW TO MOUNT OPTIONAL ACCESSORIES (Sold separately)

@ KR—r~2J’O0wv 727 Port block

131 15
4- 433 &ﬂ
o do_ ] |
&
EAF—-k
Pressure port
2-Rcl/8

ME BRI XA DI AyF
Material : Zink die-casting / nickel plate

HEEBYI7 )L (ACPG-001)
Rear panel mounting bracket

EER 1

30 18
A

1
B

Fixed

N

#E Material : SUS304
t=15

3
aoxsy | —20 ] \ga2

$ 5
RN Slot

® NXXILKILY—EY b - KILS—AN—EY ~ (BIFE)

(“42.6)

® N\NRILKILS—t v REUTEE
How to mount panel holder cover set

INZIVERILE—HIN—
INFIVRILE—

Panel holder cover
Panel holder

Ak Body (PS30)

RIS —H =t b BfF/¥% I Mounting panel
Holder cover set

. ) INFIVZ By N—21R
INRIVFILE—ty b Panel stopper 2 pcs.

Panel holder set

23.5

@ R—b2J'OvIHEUIAE How to mount port block

oy>7J (P8)
“0” ring
K—r7Ov Y
Port block
M3X10

FxT (27%K)
Male screw (2 pcs.)

® FEHI7Z > 2L (ACPG-002)
Panel mounting bracket

9435 20 20 aEREE 15
- 15 $4.2 Fixed TN ‘
T =
- R e 37 | —
g ) ~ ‘
- )ﬁ 3 & P | =
N |
A A : {
#E  Material : SUS304 4.2x5.2 RN Slot
t=15
Panel mounting bracket (Option)
36 %’ ‘
IRV SR LDEE:1~3.6 mm)
Panel cut dimension (Panel board thickness : 1 ~ 3.6 mm)
1); 3]
%:sf B % Description A & Contents Appﬁzzﬁ?fo del
» HE7VIItEY ~ BE7VIWROMIX 4 %I 2K _an.
ACPG-001 Rear panel bracket set Rear panel bracket and M3 x 4 male screw (2 pes.) PG-30-PS30
FErVIIEY b FE7VIWROMI X 4 #3Y 2K
ACPG-002 Panel bracket set Panel bracket and M3 x 4 male screw (2 pcs.) PG-30-PS30
D atrm | /1AW= P bt corr(PG-30-PG-35
ACPG-003 Holder cover set = RFILT— Panel holder PG-75-PG-35H
(For protecting operating panel) JSRIVARY/S=2{8 Panel stopper (2 pes) |PG-35L-PS30
LT —AN— ~ 0 PG
ACPG004 | (T UDIRMEEHRE) | SERMRLT—/I— Panelnokercovr [P o0 b a0,
Holder cover set NRIVFILT— Panel holder PG-35L-PS30
(For protecting operating panel)
R—k7Ov7  Port block
» R—r2Ovo “0” UvJ" “0"ring (P8)
ACPG-005 Port block M3 X 104%J 2 M3x 10 Male screw 2 pcs. PS30
Y—)L%J 118 Seal screw 1 pc.
ACPG.007 | TVT—A R/t | KRNI~ Parehlder Posopess
holder stopper set JN2IWANYIS=218 Panel stopper (2pcs.) PG-35L-PS30




